BORILLA oPORTS

Adjustable Long Bar Rack (100785)




SPUORILLA oPORT

Bolt: (M10%65) Pin
O @ 5]
8x 2X
Washer: (910) Nut MI10 Quick Pin
NS
11x 8x 4x
Bolt M10%16
3X
Inner hexagon spanner ShH 1x Spanner

OM O




SHUORILLA oPORTS

N i
load 250KG .
load 120KG/( X% B

load 200KG

T 7
z ?e\
1250—-1500mm

Maximum load 250KG




@

&
Nut M10 4PCS

4PCS

Bolt M10*65

Washer M10 4PCS

O >

)/

SGOK0TIN

—C—9

S9*0TIN

\\l{\auHHHHHw

G9*0TIN

mo*oﬁz_



——%)
Pin 2PCS




(G

Bolt M10*16 3PCS

©

Washer 210 3PCS

@

A\

Nut M10 3PCS




Quick Pin 4PCS %




	10000785说明书 Model (1)
	10000785说明书 Model (2)
	10000785说明书 Model (3)
	10000785说明书 Model (4)
	10000785说明书 Model (5)
	10000785说明书 Model (6)
	10000785说明书 Model (7)

